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20118 E =3 1 3 Lets|H etHE1S ~ tHES
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HE: RIS FUBINUA BSLEH
ool RIS FUMEX (el &2
SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
EHE 1S 350,321 352,807 A2,486
RIS FOIMIAMYA HSA5 153,121 157,646 A4,525
RIS FOIMEX 153,121 157,646 A4,525
BEIS FURBE 55,000 55, 100 A100
301 LB A 55,000 55, 100 A100
10 BAE 243 900 1,000 A100
ONS L BAIS FAT U2
2 900,0002 900 1,000 A100
BR1S BA2g el 46,251 46,946 695
201 Yer2 Yyl 6,251 6,946 695
02 IZ2Y| 6,251 6,946 695
OZZ22 2 MM A 4,551,000 4,551 5,246 £695
RIS #FN 45,870 49,600 A3,730
201 LByl 14,850 16,500 A1,650
01 Attt 10,350 1,500 A1,150
oggtagY| 2 7,850,0002 7,850 9,000 A1,150
02 IZ2Y| 4,500 5,000 A500
ORER3 2 4,500,0002 4,500 5,000 A500
202 OiH| 18,720 20,800 A2,080
01 2UoiHl 18,720 20,800 A2,080
OJI=LRL#0HI(1121)  FF 17,720,008 17,720 19,800 A2,080
RS Al 153,949 53,949 0
BHEIS 472 TR 153,949 53,949
RS FUSRAY 150,540 150,540 0
401 Al&HIL 20| 150,540 150,540 0
01 Al&t] 150,000 150,000 0
OBEZAY 9 1A 0tAR AN D)
25 0 0 45,000 45,000
O4S SIS W42 LXTA
45,000, 0002 14! 45,000 0 45,000
OSEL(E) th+2 MA=Y| 23 0 0 20,000 20,000
OCH2EAFY SOFFHIZ AL 20,000,000 14! 20,000 0 20,000
OZERNME) U2 o 14 s22(H42)
s 3 23 0 0 40,000 40,000
O4E BEQNY T2 LXTAM
40,000, 0002 *14! 40,000 0 40,000
OEHF1S FOIME o T2 My
23 0 0 30,000 30,000
OA20tS 52 EFHBAb 30,000,008 14! 30,000 0 30,000
RIS B2 43,251 41,212 2,039




FH: HHEIS

A IS BESAY)

ool EBHE1S eS| (el @R

SA-E . S(E) - MEAY - BES 01l &4 24 p[E-Ll SImE=ET
B&E1s gEd=29d| 25,354 22,311 2,983
EHE1s 23] 25,354 22,371 2,983
101 el 4] 25,354 22,371 2,983
01 2= 25,354 22,371 2,983

OTHY YARE A2 222Y

2,983,000 * 14| 2,983 0 2,983
EH&E1s JIE2ZHl 17,897 18,841 N944
EBHE1s J12Z2 | 17,897 18,841 N944
201 et 3,493 3,881 A 388
01 AtR2teld] 3,493 3,881 A 388
ORM2Z+=2H| Z& 1,813,000 1,813 2,201 A 388
202 (4Hl 5,064 4,960 104
01 =AY 5,064 4,960 104
OJI2gR==80tl(112) 2 & 3,464,000 3,464 3,960 N496
O7He gHgs ol 600,000& » 14! 600 0 600
203 HRF4Hl 9,340 10,000 A 660
01 22 LR=LHI 5,940 6,600 2660
OJ22Z =L Z& 5,940,000 5,940 6,600 2660




